Important Information:
Please read these instructions thoroughly before use.
® Please read these instructions thoroughly before use.
VEVOR Failure to follow instructions may result in equipment
TOUGH TOOLS, HALF PRICE Asphalt Rake damage, malfunction, or even injury or death to person-
nel.

A Warning A

» The Rake is designed for cutting submerged, partially
emergent, or emergent aquatic vegetation from under-
water. Any other use is strictly prohibited. Before using
the Rake, please read this manual carefully to under-
stand the proper use of the unit.

» The Rake teeth have sharp edges.

A sAFETY FIRST: A

Keep out of reach of children.

Do not use it with children in the immediate area.
IMPORTANT: We are not responsible for equipment
damage or failure, losses, injury, or death resulting from
failure to follow safety precautions, misuse, or abuse of
equipment.

Assembly Instructions

Step 1

The Rake teeth Assembly: The Rake teeth Assembly:
Align the mounting holes in the middle of the rake teeth
and the head of the connecting rod, insert the M6*40
screw, and then use the nut. Note that you do not need
to tighten the nut at this time.

o — Screw:M6™12
e

NEED HELP? CONTACT US! mr o
Have product questions? Need technical support? , NutMs
Please feel free to contact us: 75
Technical Support and E-Warranty Certificate ; -
www.vevor.com/support i X

This is the original instruction, please read all manual instructions carefully before operating.
VEVOR reserves clear interpretation of our user manual. The appearance of the product shall
be subject to the product you received. Please forgive us that we won't inform you again if
there is any technology or software updates on our product.

01 02

Step 2

Connecting rod Assembly: Align the mounting holes
on both sides of the rake teeth with the mounting holes
on the connecting rod, insert M6*12 screws, and screw
in the nuts. Note that you do not need to tighten the nut
at this time.

Step 3

Connecting rod and Middle Pole Assembly: Align
the mounting hole of the connecting rod and middle
pole, insert M6*40 screws, and screw in the nut.

Step 4
Tighten all screws from step1 to step3

\/

Step 5

Handle Assembly:Press the spring-loaded buttons

on one end of the handle connector and slide it halfway
into one of the handles and rotate it until the buttons
snap into the holes in the handle.

Repeat this process for the other half of the handle.

03



Package Include

No.| Name Picture

Rear Grip

Middle Pole

Fixed rod

Allen Key

Allen Wrench vl

Screw M6*40 = |

Screw M6*12 |

O[N] W[N]~

Nut

Q
BIN|IN[=2 2N 25
<

i

Package Include

Model No. CY-SF13
Weight 1.6 kg
Size 75*36"

Manufacturer: Shanghaimuxinmuyeyouxiangongsi

Address: Shuangchenglu 803nong11hao1602A-1609shi, baoshanqu,

shanghai 200000 CN.

Imported to AUS: SIHAO PTY LTD. 1 ROKEVA STREETEASTWOOD

NSW 2122 Australia
Imported to USA: Sanven Technology Ltd. Suite 250, 9166 Anaheim
Place, Rancho Cucamonga, CA 91730

YH CONSULTING LIMITED. C/O YH Consulting
UK | REP | Limited Office 147, Centurion House, London
Road, Staines-upon-Thames, Surrey, TW18 4AX

E-CrossStu GmbH
EC | REP | Mainzer Landstr.69,
60329 Frankfurt am Main.

04

VEVOR'

TOUGH TOOLS, HALF PRICE

Technical Support and E-Warranty Certificate

www.vevor.com/support

VEVOR'

TOUGH TOOLS, HALF PRICE

Technical Support and E-Warranty Certificate
www.vevor.com/support

ASPHALT RAKE
Model:CY-SF13

We continue to be committed to provide you tools with competitive price.
"Save Half", "Half Price" or any other similar expressions used by us only
represents an estimate of savings you might benefit from buying certain tools

with us compared to the major top brands and does not necessarily mean to
cover all categories of tools offered by us.
You are kindly reminded to verify carefully when you are placing an order with
us if you are actually saving half in comparison with the top major brands.



Machine Translated by Google

VEVOR

OUTILS ROBUSTES, MOITIE PRIX

Rateau a asphalte

BESOIN D'AIDE? CONTACTEZ-NOUS!

Vous avez des questions sur les produits ? Vous avez besoin d'assistance technique ?
N'hésitez pas a nous contacter :

Assistance technique et certificat de garantie électronique

Wwww.vevor.com/support

Informations importantes :

Veuillez lire attentivement ces instructions avant utilisation.
Veuiillez lire attentivement ces instructions avant utilisation.

Le non-respect des instructions peut entrainer des dommages

matériels, un dysfonctionnement, voire des blessures ou la mort du
personnel.

A Avertissement A

* Le rateau est congu pour couper la végétation aquatique submergée,
partiellement émergente ou émergente sous I'eau. Toute autre utilisation
est strictement interdite. Avant d'utiliser le rateau, veuillez lire
attentivement ce manuel pour comprendre |'utilisation correcte de
I'appareil.

* Les dents du rateau ont des bords tranchants.

A LA SECURITE AVANT TOUT : A

Tenir hors de portée des enfants.

Ne l'utilisez pas en présence d'enfants a proximité immédiate.
IMPORTANT : Nous ne sommes pas responsables des dommages ou des
pannes de I'équipement, des pertes, des blessures ou des décés résultant du
non-respect des précautions de sécurité, d'une mauvaise utilisation ou d'un

abus de I'équipement.

Instructions de montage

Etape 1

Assemblage des dents de rateau : Assemblage des dents de rateau :
Alignez les trous de montage au milieu des dents de rateau et la téte de
la bielle, insérez la vis M6*40, puis utilisez I'écrou. Notez que vous
n'avez pas besoin de serrer I'écrou a ce stade.

— Screw:M6*12

Il s'agit des instructions d'origine, veuillez lire attentivement toutes les instructions du manuel avant de I'utiliser.
VEVOR se réserve le droit d'interpréter clairement notre manuel d'utilisation. L'apparence du produit dépend du
produit que vous avez regu. Veuillez nous excuser, nous ne vous informerons plus si des mises & jour

technologiques ou logicielles sont disponibles sur notre produit.

01 02

Etape 2

Montage de la bielle : alignez les trous de montage des deux cotés des
dents du rateau avec les trous de montage de la bielle, insérez les vis
M6*12 et vissez les écrous. Notez que vous n'avez pas besoin de serrer
I'écrou a ce stade.

Etape 3
Ensemble bielle et pdle central : alignez le trou de montage de la
bielle et du pdle central, insérez les vis M6*40 et vissez I'écrou.

Etape 4
Serrez toutes les vis de I'étape 1 a I'étape 3

N

Etape 5

Assemblage de la poignée : appuyez sur les boutons a ressort

a une extrémité du connecteur de poignée et faites-le glisser a mi-chemin
dans I'une des poignées et faites-le tourner jusqu'a ce que les boutons
s'enclenchent dans les trous de la poignée.

Répétez ce processus pour I'autre moitié de la poignée.

03



Machine Translated by Google

Contenu du paquet

Non.| Nom QTE Image
1| poignée arriere 1 e m— )
2 | Pble du milieu 1 —
3 | Tige fixe 2 G
4 | Clé Allen 1 J)|
5 | Clé Allen 1 ;,;.?‘
7 |Vis 2 M6*40 =
8 | Vis 2 M6*12 !
9 | Noix 4 i:‘“‘

Contenu du paquet

Modéle n° CY-SF13
Poids 1,6 kg
Taille 75*36"

Manufacturer: Shanghaimuxinmuyeyouxiangongsi

Address: Shuangchenglu 803nong11hao1602A-1609shi, baoshanqu,

shanghai 200000 CN.

Imported to AUS: SIHAO PTY LTD. 1 ROKEVA STREETEASTWOOD

NSW 2122 Australia

Imported to USA: Sanven Technology Ltd. Suite 250, 9166 Anaheim

Place, Rancho Cucamonga, CA 91730

UK

REP

EC

REP

04

YH CONSULTING LIMITED. C/O YH Consulting
Limited Office 147, Centurion House, London
Road, Staines-upon-Thames, Surrey, TW18 4AX

E-CrossStu GmbH
Mainzer Landstr.69,
60329 Frankfurt am Main.

VEVOR

OUTILS ROBUSTES, MOITIE PRIX

Assistance technique et certificat de garantie
électronique www.vevor.com/support

VEVOR

TOUGH TOOLS, HALF PRICE

Assistance technique et certificat de garantie
électronique www.vevor.com/support

RATEAU A ASPHALTE
Modéle : CY-SF13

Nous continuons a nous engager a vous fournir des outils & des prix compétitifs.
« Economisez la moitié », « Moitié prix » ou toute autre expression similaire utilisée par
nous ne représente qu'une estimation des économies dont vous pourriez bénéficier en achetant
certains outils chez nous par rapport aux grandes marques et ne signifie pas nécessairement
couvrir toutes les catégories d'outils proposés par nous.
Nous vous rappelons de bien vouloir vérifier attentivement lorsque vous passez une commande
chez nous si vous économisez réellement la moitié par rapport aux grandes marques.



Machine Translated by Google

VEVOR

ROBUSTE WERKZEUGE ZUM HALBEN PREIS

Asphaltrechen

SN S
ey L
11l i

Brauchen Sie Hilfe? Kontaktieren Sie uns!

Sie haben Fragen zu Produkten? Benétigen Sie technischen Support?
Nehmen Sie gerne Kontakt mit uns auf:

Technischer Support und E-Garantie-Zertifikat
WWw.vevor.com/support

Dies ist die Originalanleitung. Lesen Sie vor der Inbetriebnahme bitte alle Anweisungen im Handbuch sorgfaltig durch.

VEVOR behalt sich die genaue Auslegung unseres Benutzerhandbuchs vor. Das Erscheinungsbild des Produkts richtet

sich nach dem Produkt, das Sie erhalten haben. Bitte verzeihen Sie uns, dass wir Sie nicht erneut informieren,

wenn es Technologie- oder Software-Updates fiir unser Produkt gibt.

01

Wichtige Informationen:

Bitte lesen Sie diese Anleitung vor der Verwendung grundlich durch.
Bitte lesen Sie diese Anleitung vor der Verwendung grundlich durch.
Die Nichtbeachtung der Anweisungen kann zu Gerateschéaden,

Fehlfunktionen oder sogar zu Verletzungen bzw. zum Tod des Personals
fahren.

A Warnung A

« Der Rechen ist zum Schneiden von untergetauchter, teilweise auftauchender
oder auftauchender Wasservegetation unter Wasser konzipiert. Jede andere
Verwendung ist strengstens untersagt. Lesen Sie dieses Handbuch vor der
Verwendung des Rechens sorgfaltig durch, um die ordnungsgeméfiie
Verwendung des Gerats zu verstehen.

« Die Rechenzahne haben scharfe Kanten.

A SICHERHEIT GEHT VOR: A

Auferhalb der Reichweite von Kindern aufbewahren.

Nicht anwenden, wenn sich Kinder in der unmittelbaren Umgebung aufhalten.
WICHTIG: Wir sind nicht verantwortlich fir Gerateschéden oder -ausfélle,
Verluste, Verletzungen oder Todesfalle, die auf die Nichtbeachtung von
Sicherheitsvorkehrungen oder auf Missbrauch oder Zweckentfremdung der Geréate

zurtickzufiihren sind.

Montageanleitung

Schritt 1

Die Montage der Rechenzahne: Die Montage der Rechenzahne: Richten Sie
die Befestigungslocher in der Mitte der Rechenzahne und dem Kopf der
Pleuelstange aus, setzen Sie die M6*40-Schraube ein und verwenden Sie
dann die Mutter. Beachten Sie, dass Sie die Mutter zu diesem Zeitpunkt nicht

festziehen mussen.

- — Screw:M6*12

02

Schritt 2

Montage der Pleuelstange: Richten Sie die Befestigungslécher auf
beiden Seiten der Rechenzéhne mit den Befestigungslochern an der
Pleuelstange aus, setzen Sie M6*12-Schrauben ein und schrauben Sie

die Muttern ein. Beachten Sie, dass Sie die Mutter zu diesem Zeitpunkt
nicht festziehen missen.

Schritt 3

Montage der Verbindungsstange und des Mittelmasts: Richten Sie die
Montageltcher der Verbindungsstange und des Mittelmasts aus, setzen Sie
die Schrauben M6*40 ein und schrauben Sie die Mutter fest.

Schritt 4
Ziehen Sie alle Schrauben von Schritt 1 bis Schritt 3 fest

N

Schritt 5
Griffmontage: Driicken Sie die gefederten Knopfe

an einem Ende des Griffanschlusses, schieben Sie ihn zur Halfte in
einen der Griffe und drehen Sie ihn, bis die Knopfe in die Lécher

im Griff einrasten.

Wiederholen Sie diesen Vorgang fiir die andere Griffhélfte.

03



Machine Translated by Google

Paket enthalten

NEN.| Name MENGE Bild
1 | Hinterer Griff 1 or——— JEE)
2 | Mittelpol — e
3 | Feste Stange 2 o e
4 Inbusschlissel 1 )|
5 | Inbusschlussel 1 Q}""()
7 | schrauben 2 M6*40 =
8 | schrauben 2 M6*12 i
9 | Nuss 4 :':—_'—-*

Paket enthalten

Modell Nr. CY-SF13
Gewicht 1,6 kg
GroRe 75*36"

Manufacturer: Shanghaimuxinmuyeyouxiangongsi
Address: Shuangchenglu 803nong11hao1602A-1609shi, baoshanqu,

shanghai 200000 CN.

Imported to AUS: SIHAO PTY LTD. 1 ROKEVA STREETEASTWOOD

NSW 2122 Australia

Imported to USA: Sanven Technology Ltd. Suite 250, 9166 Anaheim
Place, Rancho Cucamonga, CA 91730

EC

REP

04

E-CrossStu GmbH
Mainzer Landstr.69,
60329 Frankfurt am Main.

YH CONSULTING LIMITED. C/O YH Consulting
UK | REP| Limited Office 147, Centurion House, London
Road, Staines-upon-Thames, Surrey, TW18 4AX

VEVOR

ROBUSTE WERKZEUGE ZUM HALBEN PREIS

Technischer Support und E-Garantie-Zertifikat

www.vevor.com/support

VEVOR

TOUGH TOOLS, HALF PRICE

Technischer Support und E-Garantie-Zertifikat
www.vevor.com/support

ASPHALTRECHEN
Modell:CY-SF13

Wir sind weiterhin bestrebt, Ihnen Werkzeuge zu wettbewerbsfahigen Preisen anzubieten.
,Sparen Sie die Halfte*, ,Halber Preis" oder andere ahnliche Ausdriicke, die wir verwenden,
stellen lediglich eine Schéatzung der Ersparnis dar, die Sie erzielen kénnen, wenn Sie bestimmte
Werkzeuge bei uns im Vergleich zu den groRen Top-Marken kaufen, und missen nicht zwangslaufig
alle von uns angebotenen Werkzeugkategorien abdecken.
Bitte priifen Sie bei Ihrer Bestellung bei uns sorgfaltig, ob Sie im Vergleich zu den groBen Topmarken
tatsachlich die Halfte sparen.



Machine Translated by Google

VEVOR

UTENSILI RESISTENTI, A META PREZZO Rastrello per asfalto

SN S
ey L
11l i

HAI BISOGNO DI AIUTO? CONTATTACI!

Hai domande sui prodotti? Hai bisogno di supporto tecnico?
Non esitate a contattarci:
Supporto tecnico e certificato di garanzia elettronica

Www.vevor.com/support

Queste sono le istruzioni originali, leggere attentamente tutte le istruzioni del manuale prima di utilizzare il prodotto.
VEVOR si riserva la chiara interpretazione del nostro manuale utente. L'aspetto del prodotto sara soggetto al prodotto
ricevuto. Vi preghiamo di perdonarci se non vi informeremo di nuovo se ci saranno aggiornamenti tecnologici o

software sul nostro prodotto.

01

Informazioni importanti:

Si prega di leggere attentamente le presenti istruzioni prima dell'uso.
Si prega di leggere attentamente le presenti istruzioni prima dell'uso.
La mancata osservanza delle istruzioni puo causare danni

all'apparecchiatura, malfunzionamenti o persino lesioni o morte del
personale.

A Avvertimento A

« Il Rake e progettato per tagliare vegetazione acquatica sommersa,
parzialmente emergente o emergente da sott'acqua. Qualsiasi altro
utilizzo e severamente vietato. Prima di utilizzare il Rake, leggere
attentamente questo manuale per comprendere l'uso corretto dell'unita.

« | denti del rastrello hanno bordi affilati.

A LA SICUREZZA PRIMA DI TUTTO: A

Tenere fuori dalla portata dei bambini.

Non utilizzarlo in presenza di bambini nelle immediate vicinanze.
IMPORTANTE: non siamo responsabili per eventuali danni o guasti

alle apparecchiature, perdite, lesioni o decessi derivanti dalla mancata
osservanza delle precauzioni di sicurezza, dall'uso improprio o dall'abuso
delle apparecchiature.

Istruzioni di montaggio

Passo 1

Il gruppo dei denti del rastrello: Il gruppo dei denti del rastrello: Allineare
i fori di montaggio al centro dei denti del rastrello e la testa della biella,
inserire la vite M6*40, quindi utilizzare il dado. Notare che non e
necessario stringere il dado in questa fase.

- — Screw:M6*12

02

Passo 2

Assemblaggio biella: allineare i fori di montaggio su entrambi i lati
dei denti del rastrello con i fori di montaggio sulla biella, inserire le viti
M6*12 e avvitare i dadi. Notare che non & necessario stringere il dado
in questa fase.

Passo 3
Gruppo biella e polo centrale: allineare il foro di montaggio della
biella e del polo centrale, inserire le viti M6*40 e avvitare il dado.

Passo 4
Stringere tutte le viti dal passaggio 1 al passaggio 3

N

Passo 5

Montaggio della maniglia: premere i pulsanti a molla

su un'estremita del connettore della maniglia e farlo scorrere per meta
in una delle maniglie, quindi ruotarlo finché i pulsanti non scattano

nei fori della maniglia.

Ripetere il procedimento per l'altra meta del manico.

03



Machine Translated by Google

Il pacchetto include

NO.| Nome QUANTITA Immagine
1| pugnatura postriore 1 e JEEES)
2 | Polo centrale —
3 | Asta fissa 2 D e
4| chiave a brugola 1 J)|
5 | Chiave a brugola 1 ;,:;.5‘
7 | Vite 2 M6*40 =
8 [ Vite 2 M6*12 i
9 | Noce 4 :':—_'—-*

Il pacchetto include

Modello n. Modello CY-SF13
Peso 1,6 kg
Misurare 75*36"

Manufacturer: Shanghaimuxinmuyeyouxiangongsi
Address: Shuangchenglu 803nong11hao1602A-1609shi, baoshanqu,
shanghai 200000 CN.

Imported to AUS: SIHAO PTY LTD. 1 ROKEVA STREETEASTWOOD

NSW 2122 Australia
Imported to USA: Sanven Technology Ltd. Suite 250, 9166 Anaheim
Place, Rancho Cucamonga, CA 91730

YH CONSULTING LIMITED. C/O YH Consulting
UK | REP| Limited Office 147, Centurion House, London
Road, Staines-upon-Thames, Surrey, TW18 4AX

E-CrossStu GmbH
EC | REP | Mainzer Landstr.69,
60329 Frankfurt am Main.

04

VEVOR

UTENSILI RESISTENTI, A META PREZZO

Supporto tecnico e certificato di garanzia
elettronica www.vevor.com/support

VEVOR

TOUGH TOOLS, HALF PRICE

Supporto tecnico e certificato di garanzia
elettronica www.vevor.com/support

RASTRELLO PER ASFALTO

Modello:CY-SF13

Continuiamo a impegnarci per fornirvi strumenti a prezzi competitivi.

"Risparmia la meta", "Meta prezzo" o altre espressioni simili da noi utilizzate
rappresentano solo una stima del risparmio che potresti ottenere acquistando determinati
utensili da noi rispetto ai principali marchi piti prestigiosi e non intendono

necessariamente coprire tutte le categorie di utensili da noi offerti.
Ti ricordiamo gentilmente di verificare attentamente quando effettui un ordine con noi se
stai effettivamente risparmiando la meta rispetto ai marchi piti importanti.



Machine Translated by Google

VEVOR

HERRAMIENTAS RESISTENTES A MITAD DE PRECIO

Rastrillo de asfalto

S

L
i
11l il

¢,NECESITA AYUDA? {CONTACTENOS!

¢ Tiene preguntas sobre el producto? ¢ Necesita asistencia técnica?
No dude en ponerse en contacto con nosotros:

Soporte técnico y certificado de garantia electronica

www.vevor.com/support

Estas son las instrucciones originales, lea atentamente todas las instrucciones del manual antes de operar.

VEVOR se reserva el derecho de interpretar nuestro manual de usuario. La apariencia del producto
dependera del producto que haya recibido. Le rogamos que nos disculpe por no informarle nuevamente
si hay actualizaciones tecnoldgicas o de software en nuestro producto.

01

Informacion importante:

Lea atentamente estas instrucciones antes de usar.

Lea atentamente estas instrucciones antes de usar.

El incumplimiento de las instrucciones puede ocasionar danos al

equipo, mal funcionamiento o incluso lesiones o la muerte del personal.

A Advertencia A

« El rastrillo esté disefiado para cortar vegetacion acuatica sumergida,
parcialmente emergente o emergente bajo el agua. Cualquier otro uso
esta estrictamente prohibido. Antes de utilizar el rastrillo, lea atentamente
este manual para comprender el uso correcto de la unidad.

* Los dientes del rastrillo tienen bordes afilados.

A SEGURIDAD ANTE TODO: A

Mantener fuera del alcance de los nifios.

No lo utilice con nifios en el area inmediata.

IMPORTANTE: No seremos responsables por dafios o fallas del
equipo, pérdidas, lesiones o muerte que resulten de no seguir las
precauciones de seguridad, mal uso o abuso del equipo.

Instrucciones de montaje

Paso 1

Conjunto de dientes de rastrillo: Conjunto de dientes de rastrillo: Alinee
los orificios de montaje en el medio de los dientes de rastrillo y la cabeza
de la biela, inserte el tornillo M6*40 y luego use la tuerca. Tenga en
cuenta que no es necesario ajustar la tuerca en este momento.

— Screw:M6*12

02

Paso 2

Montaje de la biela: Alinee los orificios de montaje de ambos lados de
los dientes del rastrillo con los orificios de montaje de la biela, inserte
los tornillos M6*12 y atornille las tuercas. Tenga en cuenta que no es
necesario ajustar la tuerca en este momento.

Paso 3

Conjunto de biela y poste intermedio: Alinee el orificio de montaje de
la biela y el poste intermedio, inserte los tornillos M6*40 y atornille

la tuerca.

Paso 4
Apriete todos los tornillos del paso 1 al paso 3

N

Paso 5

Montaje del mango: Presione los botones con resorte

en un extremo del conector del mango y deslicelo hasta la mitad en
uno de los mangos y girelo hasta que los botones encajen en los
orificios del mango.

Repita este proceso para la otra mitad del mango.

03



Machine Translated by Google

El paquete incluye

No. | Nombre CANTIDAD Imagen
1| Agarre trasero 1 e )
2 | Polo medio 1 — =
3 | Varilla fija 2 o —
4 | llave allen 1 =
5 | Llave Allen 1 J:f"?
7 | Tornillo 2 M6*40 =
8 | Tornillo 2 M6*12 |
9 | Tuerca 4 3

El paquete incluye

Modelo Nro. CY-SF13
Peso 1,6 kilogramos
Tamafio 75*36"

Manufacturer: Shanghaimuxinmuyeyouxiangongsi

Address: Shuangchenglu 803nong11hao1602A-1609shi, baoshanqu,

shanghai 200000 CN.

Imported to AUS: SIHAO PTY LTD. 1 ROKEVA STREETEASTWOOD

NSW 2122 Australia

Imported to USA: Sanven Technology Ltd. Suite 250, 9166 Anaheim

Place, Rancho Cucamonga, CA 91730

04

YH CONSULTING LIMITED. C/O YH Consulting
UK | REP| Limited Office 147, Centurion House, London
Road, Staines-upon-Thames, Surrey, TW18 4AX

E-CrossStu GmbH
EC | REP | Mainzer Landstr.69,
60329 Frankfurt am Main.

VEVOR

HERRAMIENTAS RESISTENTES A MITAD DE PRECIO

Soporte técnico y certificado de garantia
electronica www.vevor.com/support

VEVOR

TOUGH TOOLS, HALF PRICE

Soporte técnico y certificado de garantia
electronica www.vevor.com/support

RASTRILLO DE ASFALTO
Modelo:CY-SF13

Seguimos comprometidos a brindarle herramientas a precios competitivos.

"Ahorra la mitad", "mitad de precio" o cualquier otra expresion similar utilizada por nosotros
solo representa una estimacion de los ahorros que podria obtener al comprar ciertas herramientas
con nosotros en comparacion con las principales marcas lideres y no necesariamente significa

cubrir todas las categorias de herramientas que ofrecemos.
Le recordamos que cuando realice un pedido con nosotros debe verificar cuidadosamente si
realmente esta ahorrando la mitad en comparacién con las principales marcas.



Machine Translated by Google

Wazne informacje:

Przed uzyciem nalezy doktadnie przeczytac instrukcje.

VEVOR

WYTRZYMALE NARZEDZIA, POLOWA CENY

Grabie do asfaltu

Przed uzyciem nalezy doktadnie przeczytac instrukcje.
Nieprzestrzeganie instrukcji moze spowodowac uszkodzenie sprzetu,

jego nieprawidtowe dziatanie, a nawet obrazenia ciata lub $mier¢
personelu.

A Ostrzezenie A

* Grabie sg przeznaczone do $cinania roslinnosci wodnej podwodnej,

czesciowo wynurzonej lub wynurzonej. Wszelkie inne zastosowania

sg surowo zabronione. Przed uzyciem grabi nalezy uwaznie

przeczytac te instrukcje, aby zrozumie¢ prawidtowe uzytkowanie

urzadzenia.

+ Zeby grabi maja ostre krawedzie.

T
e

POTRZEBUJESZ POMOCY? SKONTAKTU]J SIE Z NAMI!

Masz pytania dotyczace produktu? Potrzebujesz wsparcia technicznego?
Zapraszamy do kontaktu z nami:

Wsparcie techniczne i certyfikat e-gwarancji

WWW.vevor.com/support

To jest oryginalna instrukcja, przed rozpoczeciem uzytkowania nalezy uwaznie przeczytac wszystkie instrukcje.
VEVOR zastrzega sobie prawo do jasnej interpretacji naszej instrukcji obstugi. Wyglad produktu bedzie zalezat od
produktu, ktéry otrzymates. Prosimy o wybaczenie, ze nie poinformujemy Cie ponownie, jesli w naszym

produkcie pojawia sie jakiekolwiek aktualizacje technologiczne lub oprogramowania.

01 02

A BEZPIECZENSTWO NAJWAZNIEJSZE: A

Przechowywac¢ w miejscu niedostepnym dla dzieci.

Nie nalezy uzywac urzadzenia, gdy w jego poblizu znajdujg sie dzieci.
WAZNE: Nie ponosimy odpowiedzialnosci za uszkodzenia lub
awarie sprzetu, straty, obrazenia lub $mier¢ wynikajgce z
nieprzestrzegania srodkéw ostroznosci, niewtasciwego uzytkowania
lub naduzywania sprzetu.

Instrukcja montazu

Krok 1

Montaz zebéw grabigcych: Montaz zebéw grabigcych: Wyréwnaj
otwory montazowe na $rodku zebéw grabigcych i glowicy
korbowodu, wtdz Srube M6*40, a nastepnie uzyj nakretki. Zwréé
uwage, ze nie musisz dokreca¢ nakretki w tym momencie.

- — Screw:M6*12

Krok 2

Montaz korbowodu: Wyréwnaj otwory montazowe po obu stronach
zeboéw grabigcych z otworami montazowymi na korbowodzie, wtéz
Sruby M6%12 i wkre¢ nakretki. Pamietaj, ze nie musisz dokreca¢ nakretki
w tym momencie.

Krok 3

Montaz korbowodu i $Srodkowego bieguna: Wyréwnaj otwér
montazowy korbowodu i sSrodkowego bieguna, wtéz $ruby
M6*40 i dokre¢ nakretke.

Krok 4
Dokre¢ wszystkie sruby od kroku 1 do kroku 3

N

Krok 5

Montaz uchwytu: Nacisnij przyciski sprezynowe

na jednym koncu tacznika uchwytu i wsun go do potowy w jeden z
uchwytéw, a nastepnie obré¢, az przyciski wskoczg w otwory w
uchwycie.

Powtérz ten proces dla drugiej potowy uchwytu.

03



Machine Translated by Google

Zawartosc¢ pakietu

NIE.| Nazwa 1LOSC Zdjecie
T | Uchwyt tylny 1 air—————— 1)
2 | Srodkowy biegun 1 c — e
3 | Pretstaly 2 e e
4| Klucz imbusowy 1 J)|
5 [Klucz imbusowy 1 {,j}‘-?
7 | Sruba 2 M6*40 ==
8 | Sruba 2 M6*12 |
9 | nakreta 4 i—“—*

Zawartosc¢ pakietu

Numer modelu CY-SF13
Waga 1,6 kg
Rozmiar 75*36”

Manufacturer: Shanghaimuxinmuyeyouxiangongsi

Address: Shuangchenglu 803nong11hao1602A-1609shi, baoshanqu,

shanghai 200000 CN.

Imported to AUS: SIHAO PTY LTD. 1 ROKEVA STREETEASTWOOD

NSW 2122 Australia

Imported to USA: Sanven Technology Ltd. Suite 250, 9166 Anaheim

Place, Rancho Cucamonga, CA 91730

YH CONSULTING LIMITED. C/O YH Consulting
UK | REP| Limited Office 147, Centurion House, London
Road, Staines-upon-Thames, Surrey, TW18 4AX

E-CrossStu GmbH
EC | REP | Mainzer Landstr.69,
60329 Frankfurt am Main.

04

VEVOR

WYTRZYMALE NARZEDZIA, POLOWA CENY

Wsparcie techniczne i certyfikat gwarancji

elektronicznej www.vevor.com/support

VEVOR

TOUGH TOOLS, HALF PRICE

Wsparcie techniczne i certyfikat gwarancji
elektronicznej www.vevor.com/support

GRABIE DO ASFALTU
Model:CY-SF13

Nadal staramy sig oferowa¢ Panstwu narzedzia w konkurencyjnych cenach.
,0Oszczedz potowe”, ,Potowa ceny” lub inne podobne wyrazenia uzywane przez nas
stanowig jedynie szacunek oszczednosci, jakie mozesz uzyskac kupujac u nas okreslone
narzedzia w poréwnaniu do wiodgcych marek i niekoniecznie oznaczaja, ze obejmuja

wszystkie kategorie narzedzi oferowanych przez nas.
Przypominamy, ze przy sktadaniu u nas zamoéwienia nalezy doktadnie sprawdzi¢, czy
faktycznie oszczedzasz potowe ceny w poréwnaniu z produktami wiodgcych marek.



Machine Translated by Google

Belangrijke informatie:
Lees deze instructies aandachtig door voordat u het product gebruikt.
o ® Lees deze instructies aandachtig door voordat u het product gebruikt.
VEV R Als u de instructies niet opvolgt, kan dit leiden tot schade aan de

ROBUUSTE GEREEDSCHAPPEN, HALVE PRIJS Asfal t h ar k apparatuur, storingen of zelfs letsel of de dood van personeel.

A Waarschuwing A

« De hark is ontworpen voor het snijden van ondergedompelde, gedeeltelijk
boven water komende of boven water komende waterplanten. Elk ander
gebruik is ten strengste verboden. Lees deze handleiding zorgvuldig door
voordat u de hark gebruikt, zodat u het juiste gebruik van het apparaat
begrijpt.

« De tanden van de hark hebben scherpe randen.

A VEILIGHEID VOOROP: A

Buiten bereik van kinderen houden.
Gebruik het niet als er kinderen in de buurt zijn.

BELANGRIJK: Wij zijn niet aansprakelijk voor schade of storingen aan
apparatuur, verlies, letsel of overlijden als gevolg van het niet naleven van

Montage-instructies
Stap 1
De Rake tanden montage: De Rake tanden montage: Lijn de

\\\. =
KWH’{I H”ﬁ montagegaten uit in het midden van de rake tanden en de kop van de

/WW{MHM drijfstang, plaats de M6*40 schroef en gebruik dan de moer. Let op dat

m u de moer op dit moment niet hoeft vast te draaien.

FL— Screw:M6*12
HULP NODIG? NEEM CONTACT MET ONS OP! =
! ~ "‘"'-__
Heeft u vragen over het product? Heeft u technische ondersteuning nodig? ; NutM6
Neem gerust contact met ons op:
Technische ondersteuning en e-garantiecertificaat G
L4
X

Www.vevor.com/support

Dit zijn de originele instructies. Lees de volledige handleiding zorgvuldig door voordat u het product gebruikt.
VEVOR behoudt zich een duidelijke interpretatie van onze gebruikershandleiding voor. Het uiterlijk van het
product is afhankelijk van het product dat u hebt ontvangen. Vergeef ons dat we u niet opnieuw zullen
informeren als er technologie- of software-updates voor ons product zijn.

01 02

de veiligheidsmaatregelen, verkeerd gebruik of misbruik van de apparatuur.

Stap 2

Montage van de verbindingsstang: Lijn de bevestigingsgaten aan beide
zijden van de tanden van de hark uit met de bevestigingsgaten op de
verbindingsstang, plaats M6*12 schroeven en schroef de moeren vast. Let
op: u hoeft de moer op dit moment nog niet vast te draaien.

Stap 3

Montage van de verbindingsstang en de middenpaal: Lijn het
montagegat van de verbindingsstang en de middenpaal uit, plaats de
M6*40-schroeven en draai de moer vast.

Stap 4
Draai alle schroeven van stap 1 tot en met stap 3 vast

N

Stap 5

Handgreepmontage: druk op de veerbelaste knoppen

aan één uiteinde van de handgreepconnector en schuif deze halverwege in
een van de handgrepen en draai deze totdat de knoppen in de gaten in

de handgreep vastklikken.

Herhaal dit proces voor de andere helft van het handvat.

03



Machine Translated by Google

Pakket inbegrepen

Nee.| Naam AANTAL Afbeelding
1 | Achtergreep 1 - )
2 | Middenpool 1 —
3 | Vaste staaf 2 o ——
4 | Allen Key 1 J)|
5 | Inbussleutel 1 Q}"?
7 | Schroef 2 M6*40 =
8 | Schroef 2 M6*12 |
9 | Moer 4 :’:—_‘-*

Pakket inbegrepen

Modelnr. CY-SF13
Gewicht 1,6 kg
Maat 75*36"

Manufacturer: Shanghaimuxinmuyeyouxiangongsi

Address: Shuangchenglu 803nong11hao1602A-1609shi, baoshanqu,

shanghai 200000 CN.

Imported to AUS: SIHAO PTY LTD. 1 ROKEVA STREETEASTWOOD

NSW 2122 Australia

Imported to USA: Sanven Technology Ltd. Suite 250, 9166 Anaheim

Place, Rancho Cucamonga, CA 91730

UK

REP

EC

REP

04

YH CONSULTING LIMITED. C/O YH Consulting
Limited Office 147, Centurion House, London
Road, Staines-upon-Thames, Surrey, TW18 4AX

E-CrossStu GmbH
Mainzer Landstr.69,
60329 Frankfurt am Main.

VEVOR

ROBUUSTE GEREEDSCHAPPEN, HALVE PRIJS

Technische ondersteuning en e-
garantiecertificaat www.vevor.com/support

VEVOR

TOUGH TOOLS, HALF PRICE

Technische ondersteuning en e-
garantiecertificaat www.vevor.com/support

ASFALTHARK
Model:CY-SF13

Wij streven er voortdurend naar om u gereedschappen tegen concurrerende prijzen te leveren.
"Bespaar de helft", "halve prijs" of andere soortgelijke uitdrukkingen die wij gebruiken, geven
slechts een schatting van de besparingen die u kunt behalen door bepaalde gereedschappen bij ons
te kopen in vergelijking met de grote topmerken. Dit betekent niet noodzakelijkerwijs dat alle
categorieén gereedschappen die wij aanbieden, hieronder vallen.
Wij willen u erop attenderen dat u bij het plaatsen van een bestelling zorgvuldig moet controleren of u
daadwerkelijk de helft bespaart in vergelijking met de grote topmerken.



Machine Translated by Google

VEVOR

TARA VERKTYG, HALVA PRISET

Asfaltskratta

/N S
o

BEHOVER HJALP? KONTAKTA OSS!

Har du produktfrdgor? Behover du teknisk support?
Kontakta oss garna:

Teknisk support och e-garanticertifikat
www.vevor.com/support

Detta &r den ursprungliga instruktionen, las alla instruktioner noggrant innan du anvander den.
VEVOR reserverar sig for en tydlig tolkning av var anvandarmanual. Utseendet p& produkten &r
beroende av den produkt du fatt. Ursékta oss att vi inte kommer att informera dig igen om det
finns n&gon teknik eller mjukvaruuppdateringar pa var produkt.

01

Viktig information:

Vanligen las dessa instruktioner noggrant fére anvandning.
Vanligen las dessa instruktioner noggrant fére anvandning.
Underlatenhet att folja instruktionerna kan leda till skada pa

utrustningen, felfunktion eller till och med skada eller dédsfall fér personal.

A Varning A

« Raken ar designad for att klippa nedséankt, delvis uppkommande
eller framvéaxande vattenvegetation fran under vattnet. All annan
anvandning ar strangt forbjuden. Innan du anvander raken, las
denna bruksanvisning noggrant for att forsta hur enheten
anvands pa ratt satt.

» Raketanderna har vassa kanter.

A\ SAKERHET FORST: )

Forvaras utom réckhall for barn.

Anvand den inte med barn i naromradet.

VIKTIGT: Vi ar inte ansvariga for skador pa utrustning eller

fel, forluster, skador eller dodsfall till foljd av underlatenhet att folja
sakerhetsforeskrifter, felaktig anvandning eller missbruk av
utrustning.

Monteringsanvisningar

Steg 1

Raketanderna Montering: Raketédnderna Montering: Rikta in
monteringshalen i mitten av raketanderna och vevstakens huvud,
satt i M6*40-skruven och anvand sedan muttern. Observera att
du inte behover dra &t muttern just nu.

— Screw:M6*12

02

Steg 2

Montering av vevstake: Rikta in monteringshalen pa bada sidor av
spantanderna med monteringshalen pé vevstaken, sétt i M6*12 skruvar
och skruva i muttrarna. Observera att du inte behéver dra at muttern just
nu.

Steg 3

Vevstang och mellanstang: Rikta in monteringshalet for
vevstaken och mellanstangen, sétt i M6*40-skruvar och skruva
i muttern.

Steg 4
Dra at alla skruvar fran steg 1 till steg 3

\/

Steg 5
Handtagsmontering: Tryck p& de fjaderbelastade knapparna

pé ena anden av handtagsanslutningen och skjut in den halvvags i ett av
handtagen och vrid den tills knapparna snapper in i halen i handtaget.

Upprepa denna process for den andra halvan av handtaget.

03



Machine Translated by Google

Paketet inkluderar

Inga.| Namn ANTAL Bild

1 | Bakre grepp 1 e JEEES)
2 | Mellanpol 1 —

3 | Fast spd o ——
4 | Insexnyckel 1 J)j

5 [Allen Wrench 1 Q}"?

7 | Skruva 2 M6*40 =

8 | Skruva 2 M6*12 i

9 | Mutter 4 :’:—_‘-*

Paketet inkluderar

Modell nr. CY-SF13
Vikt 1,6 kg
Storlek 75*36"

Manufacturer: Shanghaimuxinmuyeyouxiangongsi

Address: Shuangchenglu 803nong11hao1602A-1609shi, baoshanqu,

shanghai 200000 CN.

Imported to AUS: SIHAO PTY LTD. 1 ROKEVA STREETEASTWOOD

NSW 2122 Australia

Imported to USA: Sanven Technology Ltd. Suite 250, 9166 Anaheim

Place, Rancho Cucamonga, CA 91730

04

YH CONSULTING LIMITED. C/O YH Consulting
Limited Office 147, Centurion House, London
Road, Staines-upon-Thames, Surrey, TW18 4AX

UK | REP
E-CrossStu GmbH

EC | REP | Mainzer Landstr.69,
60329 Frankfurt am Main.

VEVOR

TARA VERKTYG, HALVA PRISET

Teknisk support och e-garanticertifikat

www.vevor.com/support

VEVOR

TOUGH TOOLS, HALF PRICE

Teknisk support och e-garanticertifikat
www.vevor.com/support

ASFALTKRATTA
Modell: CY-SF13

Vi fortsétter att vara engagerade i att ge dig verktyg till konkurrenskraftiga priser.
"Spara hélften”, "halva priset" eller andra liknande uttryck som anvéands av oss
representerar bara en uppskattning av besparingar du kan dra nytta av att kdpa vissa
verktyg hos oss jamfort med de stora toppmérkena och betyder inte nédvandigtvis att
tacka alla kategorier av verktyg som erbjuds av oss.
Du paminns vénligen om att noggrant kontrollera nar du gér en bestélining hos oss om
du faktiskt sparar halften i jamforelse med de framsta stora varumérkena.



